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2Fe03(s) + 3C(s) » 4Fe(s) + 3COz2(g)
21.377 moles C

0.493 moles Fe,04

2.774 moles CO,

4 CG;Hs(ONO2)s () — 12C02(g) + 10H0 () + 6 N2 (g) + O2(g)

1.19 moles CO,, 0.995 moles H,0, 0.597 moles N3 and 0.0995 moles O, would be formed.

6 Mg (s) + Pa(s) > 2MgsP; (s)
62.4 g Py

4NH; (g) + 702(g) — 4NO2(g) + 6 H,0 (g)
1.015 x 10% molecules H,O

CH.(g) + 4Ch(g) —» CCL () + 4HCl (g)
31.4 1bs HCI

2Al(s) + 3Bra(l) > 2 AlBr3 (s)
Theoretical yield is 62.0 g, Percent yield is 96.8 %

4Fe(s) + 30:(g) — 2Fe)05(s)
LR is Fe
LR is Fe
LR is O,

Ci2H22011 (5) + 8KClO: (s) — 12CO2(g) + 11 HO () + 8KCl(s)
LR is KCIOs, 31.5 moles COz, 28.9 moles H20 and 21.0 moles KCI will be produced

2BF3(g) + 3H2(g) » 2B (s) + 6 HF (g)
LR is BF;

35.39 g HF generated

3.21 g of Hy left over

Experimental yield is 25.69 ¢ HF

.5C(s) +2S02(8) = CS2(h) + 4CO(g)

LR s C, 74.6 g of CO are produced, and 9.73 g of SO, are left over.




